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Post: A.E (C)-Set I

1. Aploughed field was discovered at - 1.
(@) Mohenjo-Daro '
(b) Harappa
(c) Lothal
(d) Kalibangan
2. The state finance commission is a - .S
(a) Legal body
(b)  Non statutory body
(c) Constitutional body
(d) None of the above

3. Which state is popularly known as "God's 3
own country"-
(a) Guijarat
(b) Madhya Pradesh
(c) Kerala
(d) Odisha

4, India's first national action plan on climate 4.
change was released in-
(a) 2008
(b) 2012
(c) 2014
(d) 2015

B, In which five-year plan community S
development programme was started -
(a) First
(b) Second
(c) Third
(d) Fourth

Ueh S gY WA @1 @rol 31 AT off —
(a) HreToEel

(b) ESWI

(c) @y

(d) PretEm

Iy fae ama 8, ua
(a) fafd® Hwen

(b) TR Tfafere Geen
(c) wauf=s Hwen

(d) SWEHI DS 48]

fbe AR 5T B SR BT YT I BT
GRS

(@) o™

(b) HHF Y]

(c) e

(d) SSIA

ARG D Serdry YRat IR Yo IR Hrd
TIST1 GBI g3

(a) 2008

(b) 2012

(c) 2014

(d) 2015

WIS fAdr sri%s @1 e f5s
EEELPRINEIEECIR

(@) uIH

(b) fecfra

(c) T

(@) =g
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10.

Water reabsorption is the main function of-
(a) Liver

(b) Pancreas

(c) Oesophagus

(d) Colon

The main reactive among the halogen
is -

(@) Fluorine

(b) Chlorine
(c) Bromine
(d) lodine

The election commissioner can be

removed by the -

(@) Chief Election Commissioner

(b) Prime Minister

(c) Presidenton the recommendation of
the CEC

(d) Chief Justice of India

Green Muffler is related to -
(a) Soil pollution

(b) Airpollution

(c) Noise pollution

(d) Water pollution

What is 'blood moon' ?

(@) Itis acomplete solar eclipse

(b) It is a partial lunar eclipse with the
red glow

(c) Itisafull lunar eclipse with deep red
glow

(d) Noneofthe above

STt BT Y A0 fheren] 4% il & |

(@) IRd

(b) AT

(c) Ul

(d) P

fferRad # & & |1 2o & I Fad
e ufafharefiar 2 |

(a) TARM

(b) FARM

(c) &M=

(d) SrEASH

fata smgad gern S |l &
(a) T fyater e gwT
(b) WEHAI ERI

(c) He fafad samgad & urmel oy

Rrsafd g1
(d) HRA D I FRER gRI

H AT G 8 —
(@) FIUSEU
(b) arg USEU
(c) eafygyo
(d) STAUGHU
=TS T ¥l Ped 2,

(a) Tl gd UBUI B2

(b) UE AT THH B A1 3ifh g TEU
HGIES

(c) UB AT THAS & A1 YU1 9% Y80I Bl
g

d) SwdaH A BIS A
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11.  Under which five-year plan was the  11. &9 ygastaara1s s guarerad) G9ro
decision to establish a "Socialist pattern of P IATYAT BT AT T AT T
Society" taken- (a) uH
(a) First (b) fadfra
(b) Second (c) g
(c) Third d) =gd
(d) Fourth
12.  The word "libero" is used in which of the  12. forsll by Wer & Hafda & |
following sports - (a) dR@T A
(a) Basketball (b)  @rciiarel
(b)  Volleyball (c) BSda
(c) Handball (d) Hiwe q1e
(d) Softball
13. Second Earth summit was organised 13, fg<frg gedt R Wi wei amafora fosan
in- MR
(a) Bali (a) @rell
(b)  Johannesburg (b) SIEFTE
(c) Riode Janerio c) Rafgs==r
(d) Paris (d) uR«
14. "Indian Pulses Research Institute" is 14, WRTT TS AT G Bl Rerd
located at - g
(a) Kanpur (@) ®HYR
(b) Jabalpur (b) SIEegR
(c) Raipur (c) YR
(d) Shimla (d) Rrer
15.  Turmeric is a - 15. BB UD
(a) Rhizome (@) "d<
(b) Corn (b) b=
(c) Bulb (c) Wb
(d)  Tuber (d) &<
| A.E (C)-Set | | 3]
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16.

17.

18.

19.

20.

"Cryogenics" is science dealing with -
(a) Growth of crystals

(b) Hightemperature

(c) Lowtemperature

(d) None of the above

"Jana-Gana-Mana" was declared national
anthem of India in

(a) 1947
(b) 1948
(c) 1950
(d) 1951

The biological oxygen demand (BOD) for
clean water is

(a) Lessthan5PPM

(b) Lessthan 10 PPM

(c) Morethan5PPM

(d) Morethan 17 PPM

Raja Ram Mohan Roy established "Brahma
Samaj' in

(@) 1816

(b) 1820

(c) 1828

(d) 1830

Which statement is not correct in case of

'Sovereign India'-

(a) Indiais notdependent on any country

(b) India is not a colony of any other
country

(c) Indiacan give any part of the country
to another country

(d) India is bound to obey UN in its
internal affairs

17.

18.

19.

20.

BT BT Hae 8 —
(a) freas &
(b) Sed ATIHE 9

(c) fy=rdama=a

(d) SUYa H A PIE Tl

SO H I TG M & WY H e bR
fepa

(a) 1947
(b) 1948
(c) 1950
(d) 1951

g 9d @ fau qraieAlfied (BOD)
2

(a) 5PPMU®H

(b) 10 PPM ¥ &H

(c) 5PPM 31

(d) 17 PPM 1 3iferd

TSTRTH A8+ ¥ o §8] GHIS &) LI9] 6d
3 o

(@) 1816

(b) 1820

(c) 1828

(d) 1830

WY R B A § DI Al DA FE el
&

(a) HRd fre qe R iR E 2 |

(b) ¥Rd T ey <91 F1 Sufae T
% |

(c) RT3 S B Dig fow fbt a7
AU B FHAT ¢ |

(d) WA 3O AR ATHA H Y T
&) 9T HIF BT ARA ¢ |
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21. "Madhesi" people of South Asia belongto  21. #ErS &7 aféyor uf¥m & fbd 291 @ wafda
which country- g —
(a) Bangladesh (a) dAFARY
(b) Nepal (b) =uTd
(c) SriLanka (c) S
(d) Bhutan (d) %=
22. In 1955, the panchsheel conference was  22. G=iiel A=Yl 1955 H dal maIford fbar
held at - T off —
(a) Cairo (Egypt) (@) e ()
(b) Delhi(India) (b) faeel (WRa)
(c) Bandung (Indonesia) (c) digT (s=emf¥mm)
(d) Dhaka (Bangladesh) (d) BT (IFARIT)
23. In which continent Atacama Desert is  23. 3T fbd Haifigy & Rera &
located- (@) ufRRrn
(a) Asia (b) 3HIHT
(b)  Africa (c) el amRa
(¢) North America (d) = MRHT
(d) SouthAmerica
24. The mascot was introduced in Olympic ~ 24. 3cfi® @dl § YHHY B Y®HIIT ®e
games - g
(a) Mexico City - 1968 (a) wfdasr Rt - 1968
(b)  Munich-1972 (b) gfrE@-1972
(c) Monteral - 1976 (c) wifgye-1976
(d) Moscow - 1980 (d) Hi®T- 1980
25.  How many states in India are connected ~ 25. WRd # b 37 RS A & oS
with international borders- 8-
(@) 14 (@ 14
(b) 15 (b) 15
(c) 17 (c) 17
(d) 19 (d) 19
| AE (C)-Set | 5]




26.

27.

28.

29.

30.

Sailvas grasslands are found in- 26.

(a) Brazil

(b) Yugoslavia

(c) Argentina

(d) SouthAmerica

Maximum rain type is in - 27

a) Cyclone rain

(a)

(b)  Mountain rain
(c) Vascularrain
(d) Anticyclone rain

What is the SWAN in national e-governance 28.

plan-

(a) State wide area network
(b) System wide area network
(c) State wise area network

(d) System wise area network

How isotopes are separated ? 29.

(a) Crystallization
(b)  Sublimation
(c) Distillation

(d) Filtration

Garuda is an airline service of - 30.

(@) Indonesia
(b) Germany
(c) lreland
(d) Spain

A & A Pal g O 2 |
(a) Toilet

(b) T

(c) 3T

(d) <féror smRa

Hyvf fava # waifde aut w1 yar 2
(@) Tshard™

(b) TE

(c) dagdl

(d) uftraspad

Y $-TTaE W & dad SWAN 2 —
(a) T dEs RATACTD
(b) Redargs iR Aeas
(c) WeaEy (RaTead
(d) Ryeew argw oRareqs
AR B YU b o1 8
(@) YdThIT

(b) FedaraH

(c) 3mHgH

d) e

g fad! [ dar g —
(a) gUSHRREI

(b)  STEAY

(c) SMRATS

d) =
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31.

32.

33.

34.

35.

He was sleeping in his room when a thief entered into his house and took away his laptop.

Which part of the sentence is wrong?

(a)
(b)
(c)
(d)

He was sléeping in his room
when a thief entered into his house
and took away his laptop.

None of the above

We cannotdebateover ................... universal truth.

(a)
(b)
(c)
(d)

a
an
the

none of the above

The invigilator distributed the answer-books ................ all the students.

(a)
(b)
(c)
(d)

between
in
among

none of the above

Antonyms of 'Worthy" —

(a)
(b)
(c)
(d)

Not worthy
Unworthy
Untrue

Not trusted

Mark the most appropriate meaning of the given idioms/phrases : Black sheep

(a)
(b)
(c)
(d)

a dark shiny animal
a costly item
an unworthy person in a family or group

a shy person

| AE (C)-Set |




36.

37.

38.

39.

40.

e &1 e Wfdfaess 2
(@ fR+zw
(b) MR+
(c) MR+zw
(d) fR+dg=

ARGy &1 AfRfdwmy
(@) #BI+TY

(b) HEI+ ey

(c) HWHEM+3<d
(d) #8l+ 35y

HENEIRIBIC LI
(@) B+

(b) b + B
(c) XTI+ A
(d) B+ 39

(@) uAl+ @Rl
(b) GR + 3MERol
(c) uRe + 3maxo
(d) uRfEr + aaror

[AE (C)Set




41. A simplé pendulum of length of 5 m, with a 41.

bob of mass 1 kg, is in simple harmonic
motion. As it passes through it means
position, the bob has a speed of 5 m/s. The
net force on the bob at the mean position
is:

(a) Zero

(b) 25N

(c) 5N

(d) 25N

42. Foralinear elastic frame, if stiffness matrix 42.

5 HIex o418 BT U ARV ATedd, oTdd!
gd 1 fPuTe, IR Ed M H 8 |5 &

Ig 39 HeH | T[orvd 2, ReIfd &1 waerd
2, dfg @1 7 5 Fex/Abs & | 7 Refd
WA R HAIA B

(a) Zero

(b) 25N

(c) 5N

(d) 25N

U R AraeR wH @ fag, afe digga

is doubled with respect to the existing HIRAT Afe T & ey H HeRd1 Afgw B
stiffness matrix, the deflection of the SR R f&m ST 8, a1 gk BE @
resulting frame will be : fqergor g
(a) Twice the existing value (a) HISE I A &Rl
(b) Half the existing value (b) HISIET T BT 3MMeN
(c) The same as existing value (c) W 1 P T
(d) Indeterminate value (d) aff¥ad o
43. Aheavy stone s suitable for 43, TEH MR TR IUYA 2
(a) Arches (a) WEwE
(b) Rubble masnory (b) wHod &I foATE
(c) Roads (c) D
(d) Retaining walls d) Y B AR
44. The minimum height of plinth of abuilding ~ 44. &t wa= & |- a1 41 | Yo aTell TSH
with respect to the level of the centre of the B DG D WR D GaY H IS G DI AT
road passing at its front or back should be Fars fba= 811 Ay
(@) 10m (@ 10m
(b) 30cm (b) 30 cm
(c) 15cm (c) 15cm
(d) 60cm (d) 60cm
| AE (C)-Set | 9]




45. While submitting a tender, the contractor ~ 45.  ffae1 uRegd Bt w4, IhR B AT B
is required to deposit some amount with TRE @ wY H fAHET & 9T B AR S
the department as a guarantee of the B B AILHAT BT B RIS W9 H ST
tender known as ST &

(a) earnestmoney (a) 9dgETYA
(b) bank guarantee (b) dHIRE
(c) security deposit (c) e ol
(d) caution money (d) STHE 9
46. The quantity of arch masonry work is  46. Fex1d AT B B A B A0 HAY §RI
calculated by the relation B AT B
(@) Span of arch x breadth of wall x (@) AexE & AR x AR Bl AT *
thickness of arch AMH B HIEE

(b) (Span of arch + 2 x thickness of arch) (b) (3 B AR + 2 x 37D B AICTE)
x breadth of wall x SIR P ArSTS

(c) (Span of arch + 2 x breadth of wall) (c) (e B! A + 2 x AR B ASTE)
x thickness of arch x 3T BT AT

(d) Mean length of arch x breadth of wall (d)  ExTE P A TS x AR B ASTE
x thickness of arch x HEXd B AICTS

47. When atrain passes on curveswhichhave 47,  Td P18 271 TR dal TR o & fore BTg
no super-elevation it will give thrust on YUR—UAIL eI Bl & a1 I8 WIR &
(a) theinnerrail (@) dR® ¥
(b) the outer rail (b) dEAA
(c) innerside of the inner rail (c) aaRa® ¥a & iR bl TXB
(d) innerside of the outer rail d) RS B IR B TRXB

48. The radius of a simple circular curve is  48. Qd WIEIROT < ash a1 f3roam 300 Hev S
300 m and length of its specified chord is IR 3 fAffe B &) arE 30 e g |
30 m. The degree of the curve is g5 &) fef &

(@) 573° (@) 573°
(b) 537 (b) B37°
(c) 357° (c) 357°
(d) 3.75° (d) 3.75°
| AE (C)-Set | 10]




49. Iftheimage of a triangulation station of RL
500 mis 4 cm from the principal point of a
vertical photo taken from an altitude of 2000
m above the height of displacement will be
(@ 6 mm
(b) 8 mm
(c) 10 mm

d) 12 mm

50.  Which one of the following parameters can
be used to estimate the angle of internal
friction of a sandy soil ?

(@) particle size
(b) roughness of particle
(c) particle size distribution

(d)  density index

51. Imhoff cane is used to measure
(@) Total organic solids
(b) Total solids
(c) Totalin organic solids

(d) Settleable solids

S2. How s hardness represented ?
(@) Hardness = 2 (Ca?') + 2 (Mg?')
(b)  Hardness = Ca?* + 2 (Mg?+)
(c) Hardness = 3 (Ca?') + Mg?*
(d) Hardness = 3 (Ca?') + 2 (Mg?")

49. TG RL 500 #H1ex & Bryst wer @1 uiy

ﬁ?@ﬂmﬂ%“ﬁﬁﬁzmoﬁaaﬁ“’wﬁ@
ﬁﬂé%@?ﬂfﬂ?ﬂ@ﬁhﬂ@ﬁgméﬁ
&, a1 81

(a) 6 mm

(b) 8 mm

(c) 10 mm

(d) 12 mm

50. ﬁsﬁﬁé‘reﬁeﬁﬁﬁmaﬁwmwa@m
M & forg Fr=ifeRaa 3 & frg trefres
BT SUINT fbar o1 Hapar &

(@) DU ITHR

(b) U1 B GIERIYA
(c) &Y INPR fAdzo
(d) &TF Fahih

51. %1% 3 &1 SUATT A9 & farg fbay vy
2
(a) B FEB S
(b) FHASH
(c) e o # Hot
(d) gRerd & A By

52. B3N F1 il S fba Sirar & 2
(@) @HIRGI=2 (Ca?) + 2 (Mg?')
(b) FSIGI = Ca?* + 2 (Mg?*)
() @SR = 3 (Ca?*) + Mg?
(d) ®SIRAI = 3 (Ca?*) + 2 (Mg?*)

| AE (C)-Set | ]
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53. Rolled steel equal and unequal sectionsare  53. RTes et & aRTaR 3R 3RTHH a7 BT ISA &
designated as ISA followed by wY # Tiftd fovan & foraa a1
(a) Length and thickness of legs (@) WRiFroarE dARHACE
(b) Width of flange and depth of (b) frepen gan fRT @1 AeTE SR da @l

web TERTS
(c) Depth of section () QI &I T8¥Tg
(d) Weight per meter length d) aor ufdy Hex darg

54. The individual variation between test  54. 1 @ wierr wifdd & e @rfdard A=
strength of sample should not be more than Q 3ifras &1 g1 A1V
(a) +5% of average (@) 3d BT+ 5%

(b) +10% of average (b) 3Nd BT+ 10%
(c) +15% of average (c) 3ad BT+ 15%
(d) +20% of average (d) a1+ 20%

55. Inamix,if eisamountof airentrainedand  55. U fAsr #, Ak e waf¥ ga1 1 #N 3R
V is the reduction in quantity of water, the V T ) HTE | BT B, I X B S AT H
reduction in solid volume of sand is given B forae gR1 &l 9 8
by (a) e+V/2
(a) e+V/2 (b) e-v/2
(b) e-v/2 (c) e-V
(c) e-V d) ST H A DS AL
(d) None ofthe above

56. If g, and g, are the two gradients, 'r'isthe  56. afd g, 3R g, A URTE g, a1 Ul 4@ %
rate of change of grade in % per chain, the g & yRad &) SR &, HETER d5h B AdTg
length of the vertical curve will be arft
@ (9,+9,)/r (@ (9,+g)/r
L B R T (b) (9,-g,)/r?

() (9,-g)/r () (9,-g)/r
(d) (9,+g,)°/r ()" g, ¥ Qi
[AERYSetl ~ = T e 12]




57.

58.

Match List | with List Il and select the
correct answer by using the codes given
below : '

List | Listll

(A) Fathoms 1. Contours of

water bodies

(B) Contour 2. Minimum
horizontal distance
between adjacent

contours.

(C) Horizontal 3.

equivalent

Imaginary line
joining the points
of same elevation.

(D) Contour 4. Vertical distance

interval between two
contours.
Codes :
A - R
(a) 1 2 3 4
B 1 & 2 4
(c) 4 3 2 1
(d) 3 2 1 4

For prestressed structural elements, high
strength concrete is used primarily
because

(a)
(b)
(c)

Both shrinkage and creep are more
Shrinkage is less but creep is more
Modulus of elasticity and creep

values are higher

7 (8

58.

g | B gA 1| gafaa AT &R
3 Ry U B BT YMT PR FEl TR

gMAg:
Gl Ul
(A) a1B 1. ofe f@ra @t
aepfal
(B) wHIr=d 2. I~ FHEd B d1d
e &fast g9 |

(C) &frt wHae 3. F9H St  fdgai
1 ST arel!
P ¥l |

(D) Fe ]IS 4. & FHred! b ST

KECCACAL

B :

A B C D
@ 1 2 3 4
® 1 3 2 4
c) 4 3 2 1
@ 3 2 1 4
qdyafera EREAT Jaadi & forg JE w5
Y i AT @) Bighie B TATT fobdn STt
2 ifH
(a) ot vd iy Q1 31 81 &
(b) st & vd 91T rfeep BNl 2

(c) UIReN AU Ud T & HF & Bl
&

(d) High modulus of elasticity and low (d) IR AU Sl Ud g = B
creep o
|T'E (c)-SEt l l sessssssnns 134]




59. Assertion (A): Joists can be made laterally ~ 59. HU (A) : BRI Foiwl B R.C.C. Bd &
supported by embedding their WITR S91 R UTed MR WiIe §97d1 o
compression flange inside R.C.C. slab. HEdl ¢ |
Reason (R) : Compression flange of beam BRI (R) : G B DRI TFoiol gbieit] &
is subjected to buckling. I 8 |
Select correct answer from the following : fer=iferaa & widt SR g+
(@) Both Aand R are true and R is the (@) ATdR T 98 Td R, A Pl G
correct explanation of A. R & |

(b) BothAand R are true and R is not a (b) ATUdRIH W& 2 Td R, A TH
correct explanation of A. IR &I & |

(c) Aistrue butRis false. (c) ATIEWRIRITAR |

(d) Aisfalse butRis true. d AIFIEWRIRIATR |

60. The slow setting cement will have higher ~ 60. 1% wH= a1el) Wiie § fr=1 &1 ufererg s
percentage of BIaTE:

(a) Tri-calcium aluminate (a) STE Bforerm gfime
(b)  Tri calcium silicate (b) TS Bfewrw Riferde
(c) Gypsum (c) foream

(d) Di-calcium silicate d) <18 Bfoerm Riferde

61. Match List | with List Il and select the ~ 61. ¥l | & {1 Il &1 eI B A1 R et
correct answer by using the codes given &R Fel SR gy -
below : A Gl

List | List I A) wETEe 1. W @

(A) Quartzite 1. Marine work (B) WRUersT 2. Byl
(B) Serpentine 2. Flooring (C) Ardd 3. aNdaf¥s garge
(C) Marble 3. Indoor decoration (D) ddre 4. JSHTH
(D) Basalt 4. Road metal BIE:
Codes : A B C D

A B C D @3 4 -4 2
@ 3 4 1 2 M) o e
® 2 1 3 4 © 1 2 3 4
(c) 1 2 3 4 (d) 4 3 2 1
d 4 3 2 1

| AE (C)-Set | | . | 14]




62.

63.

64.

65.

In a simply supported beam of length |
carrying a uniformly increasing load from
zero atright support (B) to W at left support
(A). The shear force at B will be

(@) Wie

(b) wWI/3

(c) WL

(d) 2wI3

The Muller Breslau principal in structural

analysis is used for

(a) Drawing influence line diagram for
any force function

(b)  Superimposition of load effects

(c)  Writing virtual work equation

(d) None of the above

Mercury is used in barometer because
(a) ltis perfect fluid.

(b)  Its volume changes with temperature.
(c) Itis a liquid metal.

(d) Itgivesless height of column for high

pressure.

For a turbulent flow, the Reynold’s number
should be more than

(a) 4000

(b) 2700

(c) 2000

(d) 1200

62.

63.

64.

65.

=

17418 B Uh Y& SAad €%+ ) GHH &9 9
ST g 9R, T FER B W I J 91
SR ATR W, 11 8 | B 9% 3/9%90] 9o foie
B :

(@) Wi

(b) W3

(c) WL

(d) 2wu3

HRAIHD fagervor # gor fwans fem

&1 9 = & fog gran @

(a) B 9a1 &1 sUUH g =
wree & forg

(b) HR & UG B AR & forg

(c) IHRA STt FHHRYT foras & farg

(d) SR Y BIE TE

SRIIER # AR BT G BT & i -

(a) TEUHITHEIR |

(b) T AT SHBI AT ST & |

(c) WEUHIAYRE |

(d) UBI=IE D oIV B9 SATE Pl bl
AT |

&l UaTe & oy YHfes v 4 3 a1
BT AIRY :
(@) 4000
(b) 2700
(c) 2000
(d) 1200

[AE (C)-Set
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66. Evaporation from water surface 66. ST g W are
(@) increases with humidity (@) AP AT IeATR |
(b) decreases with wind speed (b) TYITHFAFTETL |
(c) s proportional to the deficit of vapour (c) I 19 F BN B FHHUR Brar
pressure 2
(d) increases if there is salinity or (d) m%u&aﬁwmmm
pollution 2|
67.In brick lining the layer, which makes the 67, ST D SN A 98 IR T TeR 9 I8 B o
canal watertight is e g1 & a8 fyer 2 -
(@) Lower layer of the bricks (@) sl & e ueg
(b) Sandwiched layer of the cement (b) ¥ wTS B e ATl uvg
mortar (c) =TI B S Ry
(c)  Upper layer of the bricks (d) ¥ 9= U w1
(d) None of the above
68. Match List | with List Il and select the 68, A G B e B A Ry Hel
correct answer by using the codes given &1 98! I gﬁq :
below : g | el
List | List I (IS BT UFR) GREIEISE)
(Type ofroad)  (Width of carriage way) (A) U AR} 1. 7.0m
(A) Singlelane 1. 7.0m
(B) Twolane 2. 7.5m (B) TrArfifdt 2. 75m
road without Fd b
kerbs
(C) Twolanes 3. 3.75m (C) 21 #nfiavq 3. 378 m
with raised D 1
kerbs
i- e D I
(D) Multi-lane 4 3.5 m per lane (D) e 4. 3.5 m gy a7t
pavement
Codes : o
- A E gD
A B C D
(@) 3 1 AR
@ 32 1 3 -4
(b) 1 2 3 4
12 S 2 3 4
G- 3 & 7%
€ 8 4 2 4 @ 1.8 4 8
) 1 3 4 2
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69. Match List | with List Il and select the ~ 69. g | & G Il &1 fyetr % +ra Y
correct answer by using the codes given R e SR gy :
below :
List | List Il el Al
(A) Semaphore 1. Provided near (A) AHIHY 1. dige ud Hikim &
signal points and Hbad o feam ST € |
crossings
(B) Warner 2. Most common type (B) AR H&Hdd 2. 3y | haD |
signal of signal
(C) Router 3. Provided near the (C) ¥R 3. dfge @ g R e
signal points where qHaF Tt A Rt Ye vy
different lines g@mﬁﬁmﬁ% |
branches off from
main line .
(D) f&% 4. 9ra FR=e B g
(D) Disc signal 4. Provided atthe end - S @ g | R
of the station for
AR |
indicating speed
controlling
Codes : R
A B C D A B C D
@ 1 5 3 4 (@ 1 2 3 4
b) 3 1 4 5 (b) 3 1 4 2
© 2 4 3 1 (e} 2 4 3 1
(d) 4 2 3 1 (@) 4 g ¢ 3
70.  Which of the following process takes place  70. a1 & 1= it ufthan i foim fibeex # 2l
in trickling filter ? g
(a) Filtration (a) ©BHd
(b) Oxidation (b)  SITRITHTOT
(c) Disinfection (c) reToNgE
(d) Biologial action d) <ifds foban
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71. The uniformity coefficient of soil is defined M. 9= &1 THHUAT Turie foyey U |
as the ratio of e grar

(@) Dm‘lDzo (a) D10/020

(b) D,,/D,, (b) D,/ D,

(c) Deo/D,q (c) Deo/D4

(d) D,/ Dy, (d) D,o/Ds

72. Consider the following statements 72, uEE} § @)Y arg RITHS R gvy
régarding negative skin friction in piles. AR 77 ot ox Rrar a3 -

1. Itis developed when pile is driven 1. ST PIE Ug el #Ter €13 wrars o Ryt
through a recently deposited clay fedt & wa § sreft Sy 2, U8
layer. e grar |

2. ltis developed when the pile is driven 2 maﬂémwa@aﬁmﬁm
through a layer of dense sand. I &, T sy 2ar e |

3. ltis developed due to sudden 3. M T WR B 4 7 o &
drawdown of the water table. DR TE [AHRYT grar 2|

Of the above statements SURIFT B 7 Y —

(@) 1 alone is correct (@) DI 1wEE|

(b) 2 alone is correct (b) @aT2w\DE]

() 2and 3 are correct () 23R3¥HT

(d) 1 and 3 are correct d) 13R3THY

73. Match List | with List Il and select the 73, XA W G N B e v Sy ey BTl
correct answer by using the codes given GIRT HeE! E‘ﬁ?‘g[f%r(’:

below : gt | el

List| List 11 (3]33}11 HEdH GICR'C] qa1
(Allowable maximum (Type of foundation HoHe) B UHR)
settlement) and soil type) (A) 659100 mm 1. desgw

(A) 65to 100 mm 1. Isolated footing on a® geh T

sand (B) 40 mm 2. i e qr
(B) 40 mm 2. Isolated footing on Eanall
clay (C) 65 mm 3. 9T WX Rge

(C) 65 mm 3. Rafts on sand (D) 4065 mm 4. ﬁ‘,zb——ﬁﬁg-aq?

(D) 40to 65 mm 4. Rafts on clay d& Fe

Codes : $e:

A B C D A B & D

@ 1 4 3 o @ 1 4 3 o

b) 4 1 2 3 b 4 1 2 3

) 1 4 2 3 el 1 -4 2 =

d 4 1 3 9 d 4 1 3 o
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74.

75.

If the total float and duration of an activity 74.

are 5 and 10 days respectively, the

particular activity can be :

(a) started 5days later

(b) completed 5 days later

(c) performed as lower rate in 15 days

(d) allofthe above

How can the quality of timber be checked 5.

via sound :

(a) Timber struck by hammer
(b)  Timber tapped by hand
(c) Timber knocked by chisel

(d) Two timber pieces stuck together

gfe < nfafafd & | Fere i) safe
H9T: 5 3R 10 o= B, a1 fadw wfafafd &
ThHdT B :

(a) 5fas 9 s gan

(b) 5 fa=1 e gRI g3

(c) 151 % F9ex & wu A yeH fban
(d) SuRIh A

e B W § Adhs! B qUET] B S
B BT I Fhell ©

() TR THS! U BATS W BN BRAT
(b) SHARC TTHS! DI BT | AYAUT]

(c) SARG AHS! W Bl A AIS HRAl
(d) TP B QN THS AU H THIDBY

76.  In ISMC 400 channel placed back to back ~ 76. 3TEURITH! 400 ATl H T & 9T Uh 26
at a spacing of 26 cm carry an axial load HTHIeR @ g2 TR 160 T I e 9IR 98+
of 160 tonnes. The lacing system should HY & | IR Ried & ¢ ¥R &1 favig
be designed to resist the traverse shear T B forv fEarme fban o @nfav -
ot (@) 16T
(a) 16tonnes b) 12T
(b) 12tonnes (c) 8T
(c) 8tonnes d) 4
(d) 4tonnes
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77.

78.

78.

In the theory of plastic bending of beams, 77,

the ratio of plastic moment to yield moment

is called :

(a) Shape factor

(b) Plastic section modulus
(c) Modulus of resilience

(d) Rigidity modulus

Base on grain distribution analysis, the D, 78.

D,,, Dy, values of a given soil are 0.23 mm,
0.3 mm and 0.41 mm respectively. As per

IS code, the soil classification will be :

@ SW
(b) SP
(c) SM
(d) SC

A clay soil sample is tested in a triaxial 79.

apparatus in consolidated — drained
conditions at a cell pressure of 100 KN/m?.
What will be the pore water pressure at a

deviator stress of 40 KN/m? :
(@) 0

(b) 20 KN/m?

(c) 40 KN/m?

(d) 60 KN/m?

M & wRes dfeT & Rigid 4, wiRed
B AT W SUS & ARIC B U B el
TR :

(@) PR FRD

(b) RS JTHN HTUTH
(c) <TdIATuH &1 H1uTdh
(d) HORI ATITH

e & woli & faaRo fAgeryo & oeR Uy,
g A B D, D,, Dy, A HHL: 0.23
A, 0.3 frfi af 0.41 firfi € | T a1

& FJaR, g &1 a¥fieeor 81T ;
(@) Sw
(b) SP
(c) SM
(d) SC

Ay ) A & a7 B gderor Prerefg
IYHYUT H 100 KN/m? & I §91d U
FAfba—relt 31 Rerfay # fan Sman 21 40
KN/m? & faad® ufdes R fog oTat <19 &=
BT ?

(@ O
(b) 20 KN/m?
(c) 40 KN/m?

(d) 60 KN/m?2
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80. The action of negative skin friction onthe ~ 80. TUTSH TR &dl & THRIHED TYT DI feham arcll
pileis to: g:
(a) increase the ultimate load on the pile (@) U UR 3IfaH HR 9@
(b) reduce the allowable load on the pile (b) TS UR WIBT HR HH P 3
(c) Maintain the working load on the pile (c) UTSH UR BT &1 4131 §91Y &1
(d) Reduce the settlement of the pile (d) USd ® FUCR B & B

81. A uniform horizontal pipe of length 120cm 81, 120 0! I4T8 &1 U oA &fdret uigy, uigy
leads from a reservoir holding water to a @ ol R A HUR 90 I+ & &S I it
depth of 90 cm above the open end of the TG dTel ST A O & | Gol RN 4 40
pipe. What minimum length of piezometer |1 & g U= gam@ 719 & forg Graies a
is required to measure pressure at a point TH 418 fha 811 ARy ?
40 cm from the open end ? (@) 90
(@) 90cm (b) 60 T
(b) 60 cm (c) 302
(c) 30cm d) 102
(d) 10 cm

82. Thethickness of the laminar boundary layer ~ 82. & fdg A IR U& HUIE @i WX TR aTSg!
on a flat plate at a point Ais 2 cm and at a TR 1 HIH U DI AICTS 2 A4 2 3R g B
point B, 1 m downstream of Ais 3 cm. What TWAD 1R IUIR A3 AN g | @ B
is the distance of A from the leading edge oft fF R A g8 fhai 2 2
of the plate ? (@) 0.50 Hex
(@) B0 m (b) 0.80 #ie”
(b) .80m @ it
(c) 1.25m a5 A
d 1m
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83.

84.

85.

Hydraulic jump is always needed in case

of :

(@) anA, profile followed by an A, profile
(b) anA, profile followed by an A, profile
(c) anH, profile followed by an H, profile

(d) anM, profile followed by an M, profile

Maximum possible discharge from a small
catchment corresponding to a particular
rainfall intensity is independent of which one

of the following ?
(a) soil moisture conditions

(b) drainage characteristics of

catchment
(c) area of the catchment

(d) duration of the rain storm

Specific capacity of well is the :

(@) volume of water that can be
extracted by the force of gravity from

a unit volume of aquifer

(b) discharge per unitdrawn down of the

well

(c) Reduction in per unit drawn from the

well

(d)  Breadth of one unit and thickness of

full volume

83.

84.

85.

BIgQIleld ST @ ATITABAl SHN T
BRI g :

(@) A, UTBIEa IR IHD 918 A, NIBTge
(b) A, WNBEAD d18 A, WThISel
(c) TP H, WIHTEdl & 918 U H, MpTg el
(d) M, IBIEe & 918 M, MBTgel

T fa9y aul figa & 3wy e Bie |
SIAUEY &3 | Afrean gy frdeqa
FafoRadafradagad?

(@) e & = & Rafy

(b) TAUEY &I B T fAHEr
EEERIY

(c) U= &=

(d) R qHE B 3@y

HU ¥ fafre eman 2 :

(@) T B A O TEaeET B T
R STy &l U 3HTs A1 A T
o 9hal 2

(b) U B ufd e FHrd

() U U Afre Fde § )

(d) TP 3PIE AISTE 3R Tayd &) 7
AIETE & 7T
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86. An unconfined aquifer of porosity 30%,  86. URRICI 30%, YRR 35 Hex/fe 3k
permeability 35 m/day and specific yield of 0.20 @1 faf¥re Sust &1 U Y SFera
0.20 has an area of 100 km?. If the water 100 fh412 &1 v & B | A W & SR
table falls by 0.25 m during the drought, the el Wik 0.25 Hiex AR ora 8, a1 werRor 9
volume of water lost from storage, in million T gY U 1 A fferad wyfdw Hiex 3
cubic meters is : B
(a) 2 (@ 2
(b) 5 (b) 5
() 1 (c) 1
(d) 4 (d) 4

87.  In Marshall testing of bituminous mixes,as ~ 87.  fagfa fAs1oli & wreter udleror 3, <{feh fagaa
the bitumen content increases the flow A YaTE SR AF B deT B :
value : (@) Rerzzarz
(a) remains constant (b) UB Hedle 3R R agare
(b) decreases first and then increases (c) SES® UTTSATS
(c) increases monolithically (d) UEc ggare IR fby gedr 2
(d) increases first and then decreases

88. Railway Yard in which wagons received  88. YoTd ITS foreH U Sa1 &) TufRd faba oy
stored and new trains are formed is called & 3R 712 Yord s &1 fFmtor fban srar &,
a: I HET AT 8 :
(a) goods yard (a) T TS
(b) station yard (b) RIHITE
(c) marshalling yard (c) e are
(d)  Shunting yard (d) vifears
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89. Castorangle is defined as the angle : 89. W PV B I B wU H gRwifdd b
(a) formed by the longitudinal axis of the TIE:
aircraft and the direction of (@) e @ ared 3 3R AT R @1
movement of the nose gear iy @ e gy Ifed
(b) between the direction of wind and the (b) a1 @ e &R AT @ argaed e &
longitudinal axis of the Runway dra
(c) between the true speed of the aircraft (c) M @ arafas 7 ol wia fde
and the cross wind component Hed d did
(d) between the horizontal and the (d) &fS 3R s 3w @ 4 |
fuselage axis.
90. Air-binding in rapid sand filters is 90. Eﬁﬁiﬁ%ﬁﬂfg-ﬁ%iﬁlmﬁam%
encountered when : E
(a) There is excessive negative head (@) IAfE THRIHD &R 2
(b) the water is subjected to prolonged (b) Ul e |§HY dF ATAT & arefi=
aeration g
(c) the raw water contains dissolved (c) H U H g?ﬁg‘s‘ T a8d 8
ases .
g (@) Feex e ¥ A AR W A A 2
(d) the filter bed comprises largely of g
coarse sand
91. Which is the best material to resist 91. g@mwmﬁﬁﬁam;ﬁm
hydrogen sulphide corrosion ? Y s I - g ?
(a) Glazed stoneware (a) Glazed stoneware
(b) Glazed earthenware (b) Glazed earthenware
() RCC (c) RAA
(d) Brick masonry d) s oS
[AE (C)-Setl 24|




92. Whatis the zone where fish life mighttend ~ 92. d& &3 ®I1 & STei 3MURIE Sidl Pl el § a8l
to progressively dwindle when wastewater 29 R 7Bl &1 S SRR Fe- oIl
is discharged into a river, called ? g, T HEAKd & ?

(@) Zone of degradation (a) fiRMEe FH1a=

(b)  Zone of active decomposition (b) <fha qEE P &F
(c) Zone of mixing (c) fasor & e

(d) Zone of recovery (d) db B BT &F

93.  Pre-cursors to photochemical oxidantsare ~ 93.  UdTeI IR SffaRiIST & Yd-HeR &
(a) NO,, VOC, and sunlight (@) NO,, VOC, 3R I &I 21
(b) SO,, CO,and sunlight (b) SO,, CO, 3R & B YHTY
(c) H,S,CO and sunlight (c) H,S, CO 3R GRS &I AL
(d) SO, and NH, and sunlight (d) SO, 3R NH, 3R G BT ghTel

94. The number of spectral bands in the  94. {3 Hdad IYUE devc—7 W I~d V'
enhanced V thematic Mapper sensor on the v AuR JWR # quisig T o dem
Remote Sensing satellite Landsat-7 is g
(a) 64 (a) 64
b) 8 b) 8
(c) 10 (c) 10
(d) 15 (d)y 15

95. The meander pattern of ariverisdeveloped ~ 95. U@ -4l &1 #RIGR U fhas gr1 faaRid
by frar ST g ?

(a) average discharge (@) ohrad fAdeq
(b) dominant discharge (b) v fAde
(c) maximum discharge (c) arfrmad fdes
(d) critical discharge (d) eyl Fdee
[AE (C)-Set| | | 25|




96. The volume of sand required for 1 cu.mof ~ 96. 1 €9 HIEX HdIC (1:2:4 HAH B ITHR)
concrete (1:2:4 by volume) would be & fory A1 dIR UR Ma9a® X B "IN
roughtly BT
(a) 0.45m? (a) 045m?

(b) 0.25m? (b) 0.25m?
(c) 1.0md (c) 1.0m?
d) 1.5m d) 1.5m

97. In athin long closed cylindrical container;  97. U@ of*d Udol 98 Sol-IR UM § 4 &7 %7

the fluid pressure induces 419 I~ BIATR :

(a) Only hoop stress (a) ddguUfdga

(b)  Only longitudinal stress (b) dad rgaed yfdad

(c) Longitudinal stress is equal to twice (c) srgaed ufdae o gu wfdraer o g
the hoop stress g

(d) Longitudinal stress equal to half the (d) araed ufdad 1 gy ufiad &t amed
hoop stress g
98. Which of the following statement is NOT ~ 98. fAgI # 3@ gam@ & e+ # F=iforfag 8
true in the context of capillary pressure in A DI A1 U T a8 2
soils ? (a) FIRHEIHTHTACHE
(@) Water is under tension in capillary (b) Hf¥®H &= F Ul BT G TBRIHAD
zone g

(b) Pore water pressure is negative in (c) BIRHITIE D HROYATE TA1d gl
capillary zone g

(c) Effective stress increases due to (d) 1 g™ arell A2 H B e aifds
capillary pressure =1

(d) Capillary pressure is more in coarse
grained soils
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99. Momentofinertia of a square laminaof side ~ 99. b 4Tl & JTHR USd &1 FAD! [cd J& D
b about an axis through its center of gravity | e GTTEE? IR
(@) b¥3 (@) b¥3
(b) b3 (b) b%3
(c) b*12 (c) b*12
(d) b%8 (d) b*%8
100. Consider the following assumptionsinthe  100. HATAT d o & fasaiyor & v fayes
analysis of a plane truss Hea1RT WX faaR &
1. Theindividual members are straight. 1. OIS 37aud 39 F AT BT |
2. The individual, members are 2. & US g9 gyv1 fed RS g o
connected by frictionless hinges. BT |
3. The loads and reactions act only at 3.  WR ud yfafhat saa Srel wR ST
the joints. gl
Of above assumptions S B3N H -
(@) 1and 2 are valid (@) 17d23gug |
(b) 1and 3 are valid (b) 1Td3dgaE |
(c) 2and3are valid (c) 2Td3dgaE|
(d) Allare valid (d) wEIgAE |
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